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-~ (209 ) The rigid bar ABCD is suspended from four identical truss bars. Determine the
load in each bar caused by force P shown. (Fig.A)

—~(20% ) The build-up beam is subjected to a vertical of 6 KN. Knowing that the allowable

shearing force in each nail is 300 N. determine the largest permissible spacing s of the nail.
(Fig.B)

= ~(20% ) The1l.6-KN - m bending moment M is applied to a beam of the cross section
shown in a plane forming an angle B with the vertical. Determine ! the stressat (a ) point
A, (b) pointB, {(c¢) pointD. (Fig.C)

~ (2095 ) A 12-KN force P is applied at point D of the steel post shown. Knowing that the
post has a diameter 40 mm), determine the principal stresses and maximum shearing stress
atelementH. (Fig.D)

F -~ (209 ) Before the uniformly distributed load w is applied, a gap, 8,=1.0 mm, exists
between the ends of the cantilever beams AB and CD. Knowing that E=105 GPa and w = 30
KN/m, determine : (a) the deflection at B, (b) thereactionatA, (c) the reaction at
D (FigE)
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